o

N—
DRAMPErS

LOUVErS

ALUMINUM, GALVANIZED,GALVANNEAL, PVC AND STAINLESS STEEL

T

9865 WAYNE AVENUE *® CINCINNATI, OHIO 45215
PHONE (513) 733-5955 FAX (513) 733-8050



9865 Wayne Avenue LANGDON SHEET METAL

Cincinnati, Ohio 45215

SHAFT EXTENSION

l T
st i ] 10
B3HED
M1} H
[ae:) 3] b
_‘l; 1
]
X
(g W >

PARALLEL BLADE DAMPER

Phone (513 ) 733-5955
Fax (513 ) 733-8050

§

L~ FRAME
] l o -
16 GAUGE
BLADES
DAMPER -
LINKAGE
—_— STOPING
ANGLE
i_z
v

PARALLEL BLADE DAMPER
( SECTION VIEW )

SHAFT EXTENSION

ry
o H 1
L —  t}]
ulli ':'u?' i |D
1
L CH HE
M —H
X
! w

OPPOSED BLADE DAMPER

FRAME

s 16 GAUGE
BLADE

DAMPER
LINKAGE

STOPING %=
ANGLE
[* |

=

-

OPPOSED BLADE DAMPER
( SECTION VIEW )

s CLEARANCE ALL SIDES g

[m—
SR ik

\/T‘ PIN
DAMPER
P WxD ——————+|

TT
||

DUCT —»

RECTANGULAR VOLUME DAMPER

STIFFENING EDGE 1

jO/_

VOLUME DAMPER ( SECTION))



9865 Wayne Avenue
Cincinnati, Ohio 45215

QUADRANT

PIN

fe——— DIA —j

ROUND VOLUME DAMPER

LANGDON SHEET METAL

Phone (513 ) 733-5955
Fax (513 733-8050

A v

+—
HINGE

i
::4_ DAMPER
1l

Y/, ROD

40
Ly &

e e

BALL JOINT
«—— R-1 —

LGxD

RECTANGULAR SPLITTER DAMPER

i
1

K
SCREW

o —»

LOCK __
SCREW

m

.‘c—_: —ﬁ—P.E‘N_.‘—:: -

Size | A B C D E F G H K L | wer.
2" {238 {41213 (212 (41q| 4 3 |15/16123/18 | 506 | 12
3" 1278 | 5174 113/4123/8 4374 4 | 33/8[13/8] 25/8 |7/16 | 3/4

32} 3378 [ 2 |34} 6 |45/8] 4 |13716|31/16 | 3/8 1
4" 378 | 63/4 (2174312063701 5 | 438 111/833/4 |5/18 1

4172 43/8 | 7374|2172 {3374 (7172 |5 371‘ 5 [lia{4116{38 | 1172
5 |415/16 | 85/8 |23/4| 5 [91/4| 6 538 |l1ss|4dsss | 3/8 | 1374
6" |515/16 |101/8)31/4 | 51/4| 16 (71741 61/2 | 11/2|55/8 | 3/8 | 21/4 |
7l 678 (111743374 15343113747 8 | 7178 [hisay 6378 | 3/8 | 2172
8" [715/16 [125/8|4 174 {6374 14 |9s/8 | 8578 |13/41 7172 [7/16 | 33/4

T_ﬁs 16 S | 75/8|153/4103741 91/2 | 2 |86 | 7716 | 4374

10" (915716 |17 7/8)5 3)4 75| 17 111 374)101/2 2 1/8 | 9172 {9716 | 7 3/4
12" [117/8 (2017206174 |101/4)21 174 (13370112374 | 2172 {11172} w2 | 1044
14" | 13778 (243747172 1217212517215 374 |14 374(23/8 {13 3/8] 5/8 | 16172
16" |157/8 |281/2|83/4 | 14 | 29 18 {163/4|23/8 |151/4 [n/15| 19 14 |
18" |177/8 [323/4)91/2| 14 | 31 120 3/_5_, 19 312|738 1 | 3512
20 (197/8 {34 1/4[103/4( 16 | 35 |221/4] 21 39/16{191/4) 1 43

FULL CUT - OFF

Size A B C D E F G H | wer.
3" 3 41/4 3/8 3 Sasa | dars| 314 18| 172
312 |32 412 8 [ 312 | 634 5 334 [ 11/8 374
4" 4 4374 38 {312 712 | B3 414 | Tys | 374
412 | 412 5 1/2 4 81/a | 578 ] 434 {118 1
5" 5 51/4 7/16 5 8 61/8 | 5174 [1i/8 ] 11/4
6" 57/8 3/8 5 10172 78| 6174 {118 | 112
7" 7 61/4 3/8 6 13 18114 7114 |13/16] 1371
8" 8 63/4 /2 7 4 1934 Big [ 1ia] 13/e
9 9 812 7/16 | 8172 17 [ 103/4) %38 | 1114 ) 2122
10" 10 | 1112 | 9/16 8 18 12 | W02 | 13/s | 434
L12" 12 12172 | 9/18 9 21 | 141/4| 12172 | 13/8 6

HALF CUT - OFF



9865 Wayne Avenue LANGDON SHEET METAL Phone (513 ) 733-5955

Cincinnati, Ohio 45215 Fax (513) 733-8050
W —_— E
- O |‘* D"'
)
| u @ ~l:
o

- "
08
S
OPEN

| LOCK

] SCREW
|_70ﬁ SET SCREW
[aa]
SIzE A B C D E F G H K L WGT.
SizE A B C D E E K H L 3" 127/ [51/4 11374 |41/2]43/4] 4 [33/8 |13/8|25/8 (7716 | 1172
et 17/8 412 134 | 234 4170 | 3172 | 134 1 174 31/2°| 33/8 3 2 |5y/2| 6 458 4 |13/16]31/36 | 3/8 | 15/8
3+ 2778 3 2172 | 3172 5172 B3 232 | 14| 172 4" | 37/8 | 634|214 [61/8 (6374 5 [43/8[11/8]33/4 [5ne | 13/4
31/2" | 38 7 23/ | 4174 61/ (D1/2 | 31/e 1172 14 CRVAREI VAR ST EEANTATAEE AN AN VR HL B TLE 1 EL
e 3778 712 3 1172 7173 6 334 112 10 5" |415/6 |85/8 [23/4 (71/2|91/4) 6 1538 111/8 | 45/8 | 3/8 | 21/2
41,27 | 438 812 | 3174 | 514 S1/s |61z | a1 1172 e 6" |515/16 (1014|3114 1 9 10 j71/4161/2 |11/255/8 | 378 | 312
5 478 9172 | 31,2 6 9171 - 2o 12 s 7 | 67/8 (1117413374 |101/4]113/4] 8 | 7a/s (11746374 | 3/8 | 41/4 |
o s 78 1 4 5 103/ s Sae | 1o 1me 8" |715/16 [125/8141/4 |117y8) 14 [9s/8 | Bs/a |13/4|71/2 [7/16 | 63/4 |
7" 67/8 | 12172 | 41,2 8 12 3/4 9 63/4 |T12| 1/ > | 81/ 16 31358115 54 rm"g'“‘ g1z 2 _|Bone |7/ .
- 10" 1915716 {17 7/8|53/4 |153s8] 17 1113/4/101/2121/8 |9 1/2 [9/36 ) 13
8“ 77 13172 5 81/2 1434 10 {73 - 2 4 12° (11778 |201/2|6 174 |17 7/8[21 1/4]13 37412372 | 2172 (11 122|172 11542
E B/ 15 Si2 | 22 16174 1 Bi/e 2 174 14" |137/8 |243/4[71/2 ) 21 [251/2]153/4(143/4|23/8 1-3-31: ;./a 251/2
10 978 17 6 1 17 3/4 12 9 3/4 2 1/ 16" [157/8 {281/2|B3/4 [241/8) 29 18 |163/4|23/8 [151/4 [11/16| 35
12" (1178 | 201/2 7 JBBs ] 2214 | M4 (1114 2 174 18 (17778 (325491 | 27 | 31 [205m] 19 1312 (1758 1 54 |
20" (19778 {34174 1103/4|301/8| 35 (22174 21 [39/16{19 11| 1 62

FABRICATED FULL BLAST GATE 2" - 12" SKELETON GATE SK
| F |
l 2" to 127
| TASATAR, L oen

| s |
B

- -

E

t ) ¢

o S 4 BOLT
PAN TO GATE WITH EXISTING BOLT HOLES IN GATE
CAST ALUMINUM
D — FULL GATE
Size | A B C D E F K H L |wcT.

22" | 2178 | 3742|1212 ¥61/)1' 371/2 | 25 [2Y1/2 ) 3172 vz | 112
24~ | 237/8 | 391/2 | 13172 | 17172 | M 1/2 | 27 [ 23172 | 3v2] 12 [ 121

35: 257s8 @ 41 1/2) 14 /2 18 | 43 ,29 : 2571727 3 /2172 135

28 | 27 /8 4 E 12 | 19172 | 45172 | 31 | 27 w2 | 31/2] 1/2 | 149 Above 14"

30" | 297/8 | 46172 [ 1614r2 20 491/2 [ 33 | 2912312 ] 1/2 ) 165

327 3175 | 48 1712 e 52172135 [311/2 | 3 vz 2 1178 | GU;RDS NOT SHOWN FOR CLARITY. I

34" | 3378 48 181/2 22 SS1s2 | 37 | 33wz |3z 2 | 191 —_
36" [357/8| 55 |1912 | 2212 | 581/2 | 39 | 3512 | 31/2| 172 | 221 |
(38" | 3778 60 12012 2312 | 61 | 41 [371,2 | 31/2) 12 | 245 |

40" | 3978 83 |21 172 | 24172 T et 43 39172 |31/2] 12 | 268
427 | 4178 | 66 | 221/z | 251,2 | 67 | 45 |4l1s2 312 172 | 289
|43 7/8 69 23_7_71/2t4 26 1/2 70 47 1431/2 | 3172 |12 310
46" : 45 7/8 72 24172 1 27172 73 49 145172 | 31720 142 1 333

=——80DY
m y e, 1 BEET COLLAR
48 |a77s| 75 2512 | 28i2 | 76 | 5% 47wz 31/2| e | 369 [+—c—=| ~—— L anoir Frames N

RODLESS STYLE
o AIRCYLINDER

[*— SLIDE

14- TO 207 I8 OUR CAST ALUMINUM GATE.
21" AND ABOVE IS OUR SHEET METAL GATE.

FABRICATED GATE SM AIR OPERATED GATES



9865 Wayne Avenue LANGDON SHEET METAL Phone (513) 733-5955

Cincinnati, Ohio 45215 Fax (513) 733-8050
— FLG
— l I'_ TYP- i FRAME
4 l
FLG-1¢ BIRD SCREEN
FASTEN
TO BACK SIDE
OF LOUVER
D FLG -2
oy
-4 45° DEG
ﬁ 'i»’ FLG -3
X _
e W . > e
LOUVER LOUVER DETAIL
LOUVER GUAGE
\ \_TYP- 2 FRAME 1. STAINLESS STEEL & GALV, 24-16 GUAGE
— | FLG-1 | — 2. ALUMINUM .040 - 064
4" 8" TYP I 3. COPPER 16 OZ - 24 0Z
NFLG -
LOUVER FINISH
] ] 1. MILL FINISH
/ 2. PAINTED (SPECIFY TYP & COLOR OF PAINT)
\ TYP- 3 FRAME
] [
LOUVER FRAME DETAILS LOUVER SPECIFICATION



9865 Wayne Avenue

Cincinnati, Ohio 45215

LANGDON SHEET METAL Phone (513 733-5955

7.00

# 1.50

\

)

0

Fax (513) 733-8050

FRAME 20 GAGE
GALVANIZED STEEL

VENTFABRICS INC
639 SQUARE END

BEARING 3/8" BLADE 20 GAGE

DURO DYNE VENTFABRICS INC
8058 KR3 3/8"¢ 406 SQUARE ACETAL
DIAL REGULATOR BEARING 3/8°

GALVANIZED STEEL

ROUND DAMPER



9865 Wayne Avenue

Cincinnati, Ohio 45215

DURO DYNE
8058 KR3 3/8'¢
DIAL REGULATOR

LANGDON SHEET METAL

FRAME 18 GAGE
GALVANIZED STEEL

Phone (513 ) 733-5955
Fax (513 ) 733-8050

\

N
]

BLADE 20 GAGE
GALVANIZED STEEL

VENTFABRICS INC
639 SQUARE END
BEARING 3/8”

N\

‘I—--;
g a—

VENTFABRICS INC
406 SQUARE ACETAL
BEARING 3/8”

FIELD MOUNT
HAND QUADRANT
AND STAND OFF BRACKET

1.00 —I——-i - 100
1] =TT s00

v
o

RECTANGULAR DAMPER

1.00 ~



	Dampers & Louvers Cover
	Parallel, Opposed, Volume Dampers
	Round Volume Damper, Rect. Splitter, Full Cut-Off, Half Cut-Off
	Full Blast Gate, Skeleton Gate, Air Operated Gate
	Louver Details and Specs
	Round Damper
	Rectangular Damper

